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I have not violated the Honor Code in any way with regard to this work.

Math 105-Test I Feb. 1, 1994 =2
The domain of f(z) = m is
r>3x>0,xFle#3,z# -1, z#laex<3, z#-1,z#1x>0
The equation for the line through the point (2,3) and parallel to z —y =1 is
r—y=—-lrz4+y=0y=cx+4y=3x+2y=3x—2
If f(z) =2%+1 and g(x) = vz — 3, then
, UG = VA= (7 (@) = = 2 (1(0) = (& 4 VA3 9(F(0) = o+ 14 VE=3 a1 (o) =
¢ +x—
The expression x© — 7z — 18 can be factorized as
(=9 (x+2) (z+9)(z—2) (r—3)(x+6) (x+3)(z—6) (z+3)(x +6)
If f(z) =2+ %, then f/(2) =
1012 -2 % does not exist

If f(z) = \/%, then f'(z) =
-3 _ 3 3 3 _ 3
2Vas 207 227 4S5 4V
The curves y = 2% + 4 and y = —3x + 4 meet at the point(s)
(0,4)
and (—3,13) (=1,5) and (1,5) (— 3,0) and (—2,0) (3,1) there are no points of intersection
Find the equation of the tangent line to the graph y = 24/z + 5 at a point whose y coordinate is y = 7.
y:m+6y:gx—|—% y:gx—&-?y:— ga:—|—7y:— gx—|—12—9
The expression [(22% + 2z + 7) 2] Y8 /22T ¥ 2z + 7 is the same as

202 4 22 +7) /" ! V22T ¥ 2w 7 (2x + V)2
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1
2¢2 422 +7

i x2 +z—6 . 1t
lim p is equal to
g —% does not exist 1 0

I 5x° + 4zt + 323+ 222 + 2 +8 . 1t
im is equal to
v 69515—53>x4—4x3—3x2—2x+9 d

§85 -7t 1% does not exist

is equal to

11 1 1 :
i3~ 1 3 does not exist

1+h)—f(1
If f(x) = 2% — 2% then Air% w
199 —98 Q) —(1h)* does not exist

If f(z) = \/58887—4—}19, then f/(z) =

\/4% \/8% 88287/288 +9 (88287 4 9)v/z%8 + 9 does not exist

If f(z) = (3z* —1)2, then f'(z) =

2(3z* — 1) 1223 2423(32% — 1) 1223(32* — 1) 7227
3x2 + Tz 42

im -———— =

z—12x% + 3z — 3

6 % - % % does not exist

Which equation of the following is perpendicular to the equation = 4+ 2y = 0, and passes through the

point (1,7)?

y:2x+5x—2y:—13y:—%x+§ yz%x-ﬁ-%‘?’ y=—2x+9

An equation for the tangent line to the curve y = 2% — 52 + 3 at the point (2, 1) is

y=Tr—-183y=2z-3y=3x—-Ty=5+3y=5r—3

is equal to
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The y-intercept of the line 4x + 5y +6 = 0 is
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How many real solutions does the equation x? — 42 + 5 = 0 have?
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